
 

 (A-57) P. T. O.  

  Roll No. ...................................  

CD–2047 

B. Com. (Part III) EXAMINATION, 2020 

(Old Course) 

(Optional Group A—Finance Area) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ßfoŸk m|ksx dh /kefu;ksa eaaas izokfgr gksus okyk jDr gSAÞ bl 

dFku dh mnkgj.k lfgr O;k[;k dhft,A 

“Finance is the lifeblood of Industry.” Elucidate this 

statement with suitable illustration. 
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vFkokvFkokvFkokvFkok    
(Or) 

foŸk dk;Z dh ifjHkk”kk nhft,A foŸk dk;Z dh izd`fr rFkk {ksss= 
dh O;k[;k dhft,A 
Define Finance Function. Discuss its nature and scope. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- iw¡th ctÇVx dks ifjHkkf”kr dhft,A blds mís’; ,oa egRo dk 
o.kZu dhft,A 
Define Capital Budgeting. Discuss its objectives and 

importance. 

vFkokvFkokvFkokvFkok    
(Or) 

lUuh fy- dks fuEufyf[kr nks fofu;ksx izLrkokssa essaa ls ,d dks 
pquuk gSA nksuksa izLrkoksa dks lh/kh js[kk i)fr ls kflr djuk 
gSA dj dh nj 50% ekuh tk ldrh gSA fooj.k uhps fn;k x;k 
gS % 

 izLrko I 
¼`½ 

izLrko II 
¼`½ 

iw¡th ykxr  1,50,000 1,50,000 

jksdM+ vUrokZg dj ds iwoZ o 
kl ds i’pkr~ % 

  

o”kZ 1 42,000 42,000 

o”kZ 2 48,000 45,000 

o”kZ 3 70,000 40,000 

o”kZ 4 80,000 50,000 

o”kZ 5 20,000 1,00,000 

fdl izLrko dks Lohdkj djuk pkfg, \ ewY;kadu ds ekin.M 
ds :i esa is&cSd ihfj;M dk iz;ksx dhft,A 
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Sunny Ltd. has to choose one of the following two 

investment proposals. Both the proposals have to be 

depreciated on straight line method. The tax rate may be 

assumed to be 50%. The details are given below : 

 Proposal I 

(`) 

Proposal II 

(`) 

Capital Cost 1,50,000 1,50,000 

Cash inflows before tax and 

after depreciation : 

  

Year 1 42,000 42,000 

Year 2 48,000 45,000 

Year 3 70,000 40,000 

Year 4 80,000 50,000 

Year 5 20,000 1,00,000 

Which proposal should be accepted ? Use Pay-back 

period as criterion for evaluation. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- iw¡th ykxr dh ifjHkk”kk nhft,A fofHké lzksrksa ls izkIr iw¡th dh 
ykxr dk fu/kkZj.k vki fdl izdkj djsaxs \ 

Define Cost of Capital. How will you determine the cost 

of capital from different sources ? 

vFkokvFkokvFkokvFkok    
(Or) 

vxzfyf[kr lwpuk ls ifjpkyu mŸkksyd] foŸkh; mŸkksyd ,oa 
la;qDr mŸkksyd Kkr dhft, vkSj ;fn fcØh esa 10% o`f) gksrh 
gS rks mŸkksyd esa bldk izHkko crkb, % 
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foØ;  ` 2,00,000 

ifjorZu‘khy ykxr fcØh dk 40% 

LFkkbZ ykxr ` 60,000 

10% _.ki= ` 2,00,000 

Calculate Operating Leverage, Financial Leverage and 

Combined Leverage from the following information and 

also find new leverage if sales increase by 10% : 

Sales ` 2,00,000 

Variable Cost 40% of sales 

Fixed Cost ` 60,000 

10% Debenture ` 2,00,000 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- iw¡th lajpuk dk D;k vFkZ gS \ iw¡th lajpuk ds fl)kUrksa dk 
o.kZu dhft,A 
What is the meaning of Capital Structure ?  Explain the 

theories of Capital structure. 

vFkokvFkokvFkokvFkok    
(Or) 

,d O;olk; dks izkjEHk djus dk izLrko gS ftlesaa ` 10]00]000 
iw¡th dh vko’;drk gS vkSj fofu;ksx ij 15% izR;k; fuf’pr 
gSA vki izfr va’k vk; dh x.kuk dhft, rFkk loksZŸke fodYi 
dk lq>ko nhft, % 
(i) ;fn lEiw.kZ iw¡th ` 100 izfr va’k lerk va’kksa ds fuxZeu 

ls izkIr dh tkrh gSA 
(ii) ;fn 50% iw¡th lerk va’kksaa ls vkSj 50% iw¡th 10%  

_.ki=ksa ls izkIr dh tkrh gSA 

dj dh nj 50%  gSA 
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It is a proposal to start a business requiring capital of 

` 10,00,000 and an assured return of 15% on investment. 

Calculate the E. P. S. and suggest the best alternative if : 

(i) The entire capital is raised by means of ` 100 equity 

shares. 

(ii) If 50% capital israised from equity shares and 

remaining 50% from 10% debentures. 

Tax rate is 50%. 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- dk;Z’khy iw¡th izcU/k ds vFkZ dh O;k[;k dhft,A dk;Z’khy iw¡th 

ds fofHké vk;keksa dk o.kZu dhft,A 

Explain the meaning of working capital management. 

Describe the various dimensions of working capital. 

vFkokvFkokvFkokvFkok    

(Or) 

,d dkj[kkuk mRiknu ds fy, ,d iqtkZ ` 10 izfr bdkbZ Ø; 

djrk gSA okf”kZd vko’;drk 2000 bdkb;ksa dh gSA LdU/k ds 

j[k&j[kko dh ykxr 10% izfro”kZ vkSj vkns’k nsus dh ykxr 

` 40 izfr vkns’k gSA Ø; izcU/kd dk izLrko gS fd pw¡fd vkns’k 

nsus dh ykxr cgqr vf/kd gS vr% iwjh vko’;drk ds fy, ,d 

gh Ø; vkns’k nsssssss sssss suk vf/kd ykHkizn gksxkA budk ;g Hkh dguk 

gS fd ;fn 2000 bdkb;ksa dk vkns’k ,d lkFk fn;k tkrk gS rks 

ge vkiwfrZdrkZ ls 2% dVkSrh Hkh izkIr dj ldrs gSaA  

izLrko dk ewY;kadu vkSj lq>ko nhft,A 
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A factory buys and uses a component for production at 

` 10 per unit. Annual requirement is 2000 units. Carrying 

cost is 10% p. a. of inventory and ordering cost is ` 40 per 

order. The purchases manager proposes that as the 

ordering cost is very high it is profitable to place a single 

order for the entire annual requirement. He also says that 

if we order 2000 units at one time we can get 2% discount 

from the supplier. 

Evaluate the proposal and make your recommendation. 
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